N of simulated tracks vs transverse vert position N of associated tracks (simToReco) vs transverse vert position | N of simulated tracks vs z vert position
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| N of associated tracks (simToReco) vs z vert position | | N of simulated tracks vs. sim PV z | | N of associated tracks (simToReco) vs. sim PV z |
12 %] C N N 2 C N N N N N N
o Q [ : : o H H H H H :
= S Do = S
2 T 4 b D U UT UN IO SUUNNS:
3 Q 10 r R B L0 e e
=} = F : : =] F : : : : : :
= £ F : : = F : D aa®y : :
4] = r : : a r : I : :
c [3] F . . c - . . . - . .
<] © - : : 8 - : il Hag :
@ [ 5 . : Q4 : - o :
o 10°F . . X 107 et S e e e
: . F L .
1025— ' 1025— """"" <>¢
E : : E : HI £
r + P r . : :
i Do L Lt
% 0] S R LR A L LA AOf- - ebermreber e
o wuofilii, M PP PR RPN B OLuf....i....i....i....i....i....i....i.... o v P P P P I I P
5 f | P g f FoE 5 F |f ’ I
S '«'| gl e LI S R ‘ |f||lufuulfl||||f’ R _‘,},-p__.ijlIJuju |115|I|||§
C 4 T““IETHHHHE [ g | |5||THE”T”E”|||E| X : : TTHHHHTHHT‘E £
0.95L A A H | A 0.95L H H H H H H H 0.95L H H H H H H H
-30 -20 -10 0 10 20 30 -20 -15-10 -5 0 5 10 15 20 =20 -15 -10 -5 O 5 10 15 20

TP vert z (cm) TP Sim. PV z (cm) TP Sim. PV z (cm)



	Contents
	Page 1


